
NEWS
STEERING & SUSPENSION 05/2014

QLS3806S QLS3807S

QLS3808S QLS3809S

QR3895S QR3896S

QR3897S QR3898S

PRODUCT POS NOTES QH REF TECHNICAL OE
Tie Rod End - Outer ^ 06/10-02/12 QR3897S Female M14x1.5 RHT, Ø 13.8mm Cone 32 10 9 805 551

Tie Rod End - Outer ] 06/10-02/12 QR3898S Female M14x1.5 RHT, Ø 13.8mm Cone 32 10 9 805 552

Tie Rod End - Outer ^ 02/12- QR3895S Female M14x1.5 RHT, Ø 12.7mm Cone 32 10 9 808 839

Tie Rod End - Outer ] 02/12- QR3896S Female M14x1.5 RHT, Ø 12.7mm Cone 32 10 9 808 840

Stabiliser Link - Front ^ QLS3806S L=291mm 31 35 9 806 351

Stabiliser Link - Front ] QLS3807S L=291mm 31 35 9 806 352

Stabiliser Link - Rear ^ QLS3808S L=154mm 33 50 9 803 515

Stabiliser Link - Rear ] QLS3809S L=154mm 33 50 9 803 516

BMW (Mini)
R60 ( Countryman) One, Cooper, Cooper S

06/10-

QH Barcode
QLS3806S 5050438360554

QLS3807S 5050438360561

QLS3808S 5050438360578

QLS3809S 5050438360585

QR3895S 5050438360257

QR3896S 5050438360264

QR3897S 5050438360271

QR3898S 5050438360288



NEWS
STEERING & SUSPENSION 05/2014

EMB7251 EMB7252

PRODUCT POS NOTES QH REF TECHNICAL OE
Stabiliser Bar Bush - Front ^] EMB7251 Outer, Ø 20mm 906 323 1485

Stabiliser Bar Bush - Front ^] EMB7252 Outer, Ø 23mm 906 323 1685

06/06-

QH Barcode
EMB7251 5050438354478

EMB7252 5050438354485

PRODUCT POS NOTES QH REF TECHNICAL OE
Stabiliser Bar Bush - Front ^] EMB7251 Outer, Ø 20mm 2E0 411 041E

Stabiliser Bar Bush - Front ^] EMB7252 Outer, Ø 23mm 2E0 411 041F

WOLKSWAGEN D
Crafter 2E 30, 35, 50

04/06-

MERCEDES D
Sprinter 906 209D,211D,213D,215D,218D,224,309D,311D,313D,315D,318D,324,411D,415D,
418D,424,509D,511D,515D,518D,524

QSA2581S QSA2582S

PRODUCT POS NOTES QH REF TECHNICAL OE
Suspension Arm - Front d QSA2581S Cone=17.5mm RBJ 000130

Suspension Arm - Front c QSA2582S Cone=17.5mm RBJ 000120

LAND ROVER
Range Rover LMA,LMM

02/02-

QH Barcode
QSA2581S 5050438360172

QSA2582S 5050438360189


